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The divergent viewpoints about how
resources, rewards, and punishments should
be distributed, and the struggles resulting
from these differences are known as
organizational:

Select one:

O a. environments.

O b. culture.

O c. business processes.
QO d. structure.

@ e. politics.



Match the term with appropriate

definitions

Referential
integrity

Domestic
outsourcing

Associations

Online
Analytical
Processing
(OLAP)

Extranet

Occurrences linked to sing!

Choose...

Choose...

Choose...

Choose...

-

O

O

O

<



You manage the IT department at a small
startup Internet advertiser. You need to set
up an inexpensive system that allows
partners to see real-time statistics such as
views and click-throughs about their current
banner ads. Which type of system will most
efficiently provide a solution?

Select one:

O a. Enterprise system
O b. Intranet

O c.CRM

O d.MIS

O e. Extranet



Getting poor data from a supplier (131!
is a(n) reason for bad data

quality.

Select one:

O a. consistent metadata
O b. external data source.

O c. data entry problem

Information Technology Improves Business
Processes by enabling entirely new
processes though:

Select one:

O a. Hiring more employees

O b. Replacing parallel steps with
sequential steps

O c. Supporting new business models

O d. Delay in decision making



Possible functions of BPM tools include
all of the following except:

Select one:

O a. identifying and document
business processes.

O b. designing new processes.
O c. automating business processes.
O d. System programming.

O e. integrating existing systems to
support business processes
improvements.






Structured decisions are taken in the
following situations except:

Select one:
O a. Certainty

O b. Enough information provided

O c. Exceptional procedures and
operations

O d. Clear procedures

Match the term with appropriate
definitions

Mobile web
app Choose...
End-User
Development Choose...
Data
administration ~CN00Se---
Businesses Choose...
Features of

Choose...

Organizations

4

4

O

O

4



Match the term with appropriate definitions

Business

intelligence Choose... N
Digital

Fian Choose... $

Predictions Choose...

112

Business
processes Choose... $
Mobile
Native app Choose... 2

Information Technology Improves Business
Processes by enabling entirely new
processes though:

Select one:

O a. Replacing parallel steps with
sequential steps

O b. Unchanging existing business models
O c. Changing flow of information

O d. Delay in decision making



All of the following describe the effects of
globalization except:

Select one:

O a. significant decreases (_alixsl) in
operating costs.

O b. replication () of business models in
multiple countries.

O c. reduction of labor costs through
outsourcing.

O d. ability to find low-cost suppliers.

O e. increases (¢ i) in transaction costs.

A record is a group of related fields.

Select one:

O True
O False



The ministry of interior (wulslul 5,155) has two
tables in its database, one called Person and
the other called Passport. What would be the
relationship you need to establish between
Person_ID in the Person table and
Passport_number in the Passport table?

Select one:

O a. One-to-many
O b. One-to-one
O c. One-to-all

O d. Many-to-one
O e. Many-to-many

The ministry of interior (Lal413,15,) has two
tables in its database, one called Person and
the other called Passport. What would be the
relationship you need to establish between
Person_ID in the Person table and
Passport_number in the Passport table?

Select one:

O a. One-to-many
O b. One-to-one
O c. One-to-all

O d. Many-to-one
O e. Many-to-many
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Match the term with appropriate

definitions

Agile
development

Data
inventory
and assets

Data
inconsistency

Clustering

Data
management

Choose...

Choose...

Choose...

Choose...

Choose...

O

L1

O

L1

L1



The following are major characteristics
of TPS except:

Select one:

O a. Processing huge data

O b. semi-structured input and output
data

O c. High processing speed
O d. High storage capabability

DevOps stands for "development
opportunities”.

Select one:

QO True
O False



Match the term with appropriate definitions

Value of
information

Normalization

Transaction
processing
systems

Intranet

Database
management
system
(DBMS)

Choose...

Choose...

Choose...

Choose...

Choose...

4

L1

4

O

L1



The total number of food items with
storage temperature problems is an
example of which of the following?

Select one:
O a. Input

O b. Processing
O c. Feedback
O d. Meaningful information

O e. Raw data



Nonrelational databases:

Select one:
O a. use database-mapping to
normalize relations.

O b. use rows and columns to
organize data.

QO c. store information in an
unstructured format.

O d. are used to store structured and
unstructured data.

O e. are used to store low volumes of
transactional data.



